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QUESTION 1

While collecting logs, logs were received from only two of three vRealize Automation nodes. How to find more
information about the issue? (Choose the best answer.) 

A. Examine the output of vracli remote-syslog command from the third node 

B. Examine the output of vracli log-bundle command from the third node 

C. Examine the output of kubectl get logs command from the third node 

D. Examine the output of vracli log-bundle --include-legacy-pod-logs command from the third node 

Correct Answer: D 

 

 

QUESTION 2

What are two advantages of using vRealize Automation on-premises over vRealize Automation Cloud? (Choose two.) 

A. Integrate with on-premises vRealize Operations 

B. Leverage existing VMware Identity Manager for authentication 

C. Support for on-premises vRealize Orchestrator instance(s) 

D. Support for provisioning workloads to on-premises infrastructure 

E. License key is not required 

Correct Answer: AB 

 

 

QUESTION 3

Which network profile can be used to isolate a deployment? (Choose the best answer.) 

A. Routed network profile 

B. Outbound network profile 

C. Private network profile 

D. Existing network profile 

Correct Answer: C 
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QUESTION 4

What are three advantages of using vRealize Automation Cloud over vRealize Automation on-premises? (Choose
three.) 

A. Reduce infrastructure maintenance and patching time 

B. Support for deploying workloads to public clouds 

C. Does not require any additional components to deploy and manage on-premises workloads 

D. The ability to run action based extensibility (ABX) 

E. Earlier access to new features 

F. License key is not required 

Correct Answer: ABC 

 

 

QUESTION 5

An administrator is preparing to deploy vRealize Automation into production in one of several geodistributed
datacenters. 

For which type of deployment should the administrator plan while confirming resource capacity? (Choose the best
answer.) 

A. Standard 

B. Multi-site 

C. Distributed 

D. Clustered 

Correct Answer: D 
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